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[A Few Words For Parents]

1. School will remain closed from 30/10/24 to 09/11/24 for
Deepawali ,Chitragupt Puja and Chhath puja.
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2. Theassignment given during the Deepawali, Chhath puja and Chitragupt

Puja might be completed by each and every student.
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3. Holiday Homework will be available on the school website and
Whatsapp Group & School App. from 30th October 2024
Websiite-(www.mispatna.com)-Student Corner- Holiday Homework
4. The school will reopen on 11 November 2024 on its schedule.
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Note :- The Assignment Note Book which is given during the D.P & chhath
puja will be deposit on 11/11/24 in the office. Otherwise you
will have to deposit a fine of Rs. 20/- per student with Note Book.
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Use only green firecrackers as Deepawali is a festival of lights.
"Wish everyone a happy and prosperous Deepawali & Chhath Puja”"
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CLASS : EIGHT
[ Assignment For Deepawali : 2024-25 |

Instruction: Each questions have 2 marks and 1mark on your handwriting.
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ENGLISH
What did the father ask Swami to do with the letter he wrote ?
Which lines indicates the outside world is unsafe ?
Why does the phone start ringing at 6'0 clock ?
Why did the king consult magicians ?
What did the king promised to the bearded man ?
What is the theme of the poem : Nine gold medals ?
Why couldn't Guru Nayak recognise the astrologer ?
Why does he advise the stranger to go home immediately ?
Write a short note or introduction of R.K. Narayan.
10. Write the synonyms of : Agreement, Overseas, Amrunt, Blank
11. Write the antonyms of : Suspect, Moderate, Emigrate, Hilly
12. Frame sentences using these words : Quick, Stress, Comfor, Colours
ENGLISH GRAMMAR
1. Define with suitable examples - [2x5=10]
(a) Clause (b) Transitive verb (c) Complex sentence
(d) Structure of conditional sentence type II and type IIII
(e) Name the different types of adverb clause.
2. Change the following sentences as directed -
(a) I'was feeling alittle nervous (Neg, Int, Int-Neg.)
(b) She went for a week. (Neg, Int, Int-Neg.)
Write a short essay about 250 words on "My neighbour". [02]
Write a report on a road accident where 7 killed. [02]
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Write all the kinds of structure of simple present tense with example.  [02]
Fill in the blanks with the word given (In present continuous) [02]
(a) The police department ____the case (Investigating)

(b) The police ____ after the theif. (run)

Frame questions for the following answer - [02]
(a) I invited all my friends to tea. (b) I'live in Mumbai.
Fill in the blanks - [02]
(a) Ifi___ to Guwahati, I will visit the Kamakhya temple.

(b) Ifiwere amillion air, [ ___
Hint : Switch off, Live
MATHEMATICS
m—1 m—2
Solve m — 2 =1- 3
The sum of two number is 300. If 8% of one number is equal to 12% of
the other. Find the number.
Show that the sum of four interior angle is 360°.
Two adjacent angles of llgm are in the ratio 4:5. FInd the measure of all
the angle of a llgm.
The perimeter of a square is 40cm. Find the length of its diagonal
Find cube of (i) 0.01 (ii) 0.005
If x-y =2 and xy-2y. Find 1/x + 1/y
What should be add to -4x? + 3x + 1 to get 2x?-9x + 1 ?
The area of right triangle is 84m?. if one of its legs is 24 cm long. find
the length of other sides of the triangle.
0. If a+b+c=8, ab+bc+ca=4, find a?+b?+c?.
1. Ifx=1, y=1, x=0 then x3+y3+z3-3xyz is equal to .
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SCIENCE
Give three important uses at electricty.
What is an electrolyte ?
What is static electrocity ?
Why is distilled water an insulators ?
What is amplitude ?
How is sound produced in humans ?
Draw human ear.
Define (i) Origin (ii) Perception of sound.
What are hormones ?
0 What does the term Adam's apple mean ?
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What are the different stages of menstrual cycle ?
What is puberty ?

SOCIAL SCIENCE
Write any two reasons for land degradation today.
Whatis agriculture ?
What is shifting cultivation ?
Suggest three ways to conserve water.
Write the composition of Loksabha & Rajyasabha.
What is the full form of EVM ?
What do you mean by secular state ?
Why does a democratic country need a constitution ?
What attracted European trading companies to India ?

. Why were ryots reluctant to grow Indigo ?
. What accounts for the anger of the tribals against the dikus ?
. What was the demand of Rani Lakshmibai of Jhansi that was refused by

the British ?

COMPUTER
Diffferentiate between wired and wireless network.
What is network architure ?
Explain the following topologies - (i) Star topology (ii) Tree topology
Write a short note on real time communication (RTC).
Explain rich site summary (RSS).
What do you understand by Blog ? Explain its uses.
What is google drive ? How it is different from one drive ?
Explain the purpose of dropbox ?
What do you mean by strong space ?

. What is the difference between if and if else statement ?
. Explain for loop is detail.
. What do you mean by jumping statement ? Explain.
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